


(@

(iii)

(iv)

(v)
(vi)

(vii)

Give one example of isdenthalpic‘
process.

RPECE, Rt Sy VL SN

Write the statement of 2nd law of
thermodynamics in terms of entropy.

oolfs KR 7 qEBR @B R S
TERYCO! fo7 |

Why does the dissociation of PCI

decreases in presence of Cl, ?

| CL,3 ToifEfes PCI T Reaiem o1 = w2

What is salt hydfolysis 2

TR YRG RfRR I & qoe

Define isochoric process.

TNGTeRT AT et B |

What happens when phenol is heated
with zinc-dust ?

f@%&t@ﬂ@f‘%—am—%{’a%@ﬁmﬁs
qibq 2
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(viii) Write the IUPAC name of pinacolone.
feIseT TUPAC RERCT
(x) What are ylides ? -

TG @7 e

(x) What happéns when bromobutane
reacts with an active metal (Na) in dry
ether ?

TET 4y Na @ IRTEGT 157 @i 32099
Aficre i oo & =0

(i) NOj3, AlCly, C,HyNH,, FeCl,

" (select odd one out) : L 8

NOj, AlCly, C,HsNH,, FeCl, s
(Rep corcht aifd <sa)

(xii) CHY, CH,, CH? and CH, (select odd
one. out)

CH?, CH,, CHP )53 CHs(ﬁwaT
Gl A1 RS e 7=4)

2. Answer any four from the followmg

questions : 2x4=8
o iRl P Rz 11T Tew = ¢
(a) State the zeroth law of
thermodynamics.
SIS Resima e sacht fra |
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(h) Phenol is acidic, why ?

(b) What is common ion effect ? . e St B
- IR Wi & e
(c) Describe different thermodykmic 3. Answer any three of the following :
processes. . ci 5x3=15
by ) farear fofanr e 8
oreioife Reine Rfen sriffis fa B .
4 (@ How can you covert alcohols from
,( ) State the Le Chatelier’s principles. ’ 12 to 2° and then 2> to 12 alcohols?
=Tl BICORTRIRT 2 2 <
' : AR 2R (TIPS TR W (HPGRE

o &‘fiﬂf?r«ﬂw’aﬁswmm|

(e) What happens when sodium

benzoate is distilled with soda lime ? '
(b) How can you distinguish among 1°, 2°

A (e v S QWSS sffeq SR
& = and 3°- alcohols by passing over
_ heated copper ?
() What is benzyne mechanism oY O S eoAEm I ﬁsm I, 2 o
G} Hisw : ] (c) Explain why vinyl chlorides are less
. can you prepare 3-oxapentane reactive whereas benzyl chlorides are
(Diethyl ether) by the use of dry Ag,0 ; more reactive than alkyl halides ?
and alkyl halide ? qERiReE  (Etvers  fediE iR W
O-SHATTT (TR 39) S Ag,0 frarfie e @ ez ke @R e &,
W@W@@Wﬁﬁsmm R Y ¢ o
e ’
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(d) What is Schotten-Baumann

(e)

(9)

reaction ? How does phenol react -
with acyl chloride and acetic
anhydride ?

O R Be R R R3S

FIRT OIF T GT3TET A R
IR

- For adiabatic process, prové that

TV -V _ constant.

FwOIN A 9B A, o T @

| TV 0D = gz

Discuss different factors that affect

ionisation of electrolyte ?

RYReRE  wmfee Ron SR

R A =4

For a reversible thermodynamic

process show that dH = TdS + V4V

SRISTRI SIstsISt @ifemr @B A et (7
dH = TdS + VdV .
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4. Answer any three :

(h) Standard enthalpy of combustion of

benzene is —3267 -0kJ mol ™. :
- Standard enthalpy of formation of

CO,(g) and H,O(l) are °
~393-5kJmol”! and
—285-83kJmol™! respectively.
Calculate the standard enthalpy of
formation of benzene.

@A el e G

-~ 3267 -0kJmol . CO, (g) RIS
H,0(1)F el FRaioa Gt I
~-393.5kJmol™! TF
~0285.83kJmol”! T @ISR A
A0 LR ot |

10x3=30
Rizatear fofaorq Tes =i ¢

(a) Describe the Joule-Thomson
experiment. Show that the expansion
in this experiment is an isoenthalpic

process.
TeT-2 ST SSTHICH! 0 1 | @B A
FHAGCLETAT o1 (e |

3 (Sem-3/CBCS) CHE HG/RC/G 7 Contd.




(b) What is a Carnot cycle ? Taking an

ideal gas as the working material

derive an expression of the efficiency
of a reversible Carnot cycle.

Wwﬁs?wwfcﬂ%wﬁsmta
WWWW@W)
A Jif [l a1 |

(¢ State and eXplain Le Chatelier’s
principle. Describe the effect of
change of concentration, pressure -
and temperature on the equilibrium
of reaction.

Al oURERI e TR =t R sy
TIZR SS AT, Bl Ok Taeoiy ARTETT
AR I 91 |

_(d) Describe the applications of solubility
product principle and common ion

effect in qualitative inorgariic analysis.

T Resere e Ra 3o =

3 (Sem-3/CBCS) CHE HG/RC/G 8

T

(e) Write the following reactions :

(any four) 2%x4=10

et sifabre R o e

i Pmacol Pinacolone reaction
ot i R

(i) Reimann—Tiemann reaction
-Gz i
" (iij) Houben-Hoesch reaction
Ta-gr R
(iv) Rosenmund reduction
Fewe [ei
(v) Clemmensen reduction _-
e e
(vi) Cannizzaro reaction
e &iEm
(/ What is an Syl reactiqn of a?kyl
halides ? Explain why an optically

active heloalkane undergoes Syl
reaction to produce a racemic

mixture.
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&

TR (NN Syl Rfrm R SR
AT T B Syl Riea w10 51
@wﬁaﬁw%mw@wﬁmww:

(9) How can you prepare ? 2x5=10

o ewe 3R

() Methyl isocyanide from
chloromethane

IR 1 iz iz vz
(i) Biphenyl from c_hlorobenzene_
VI TR sfal
: (iii) Methyl'. iodide from 2-oxobutane
2-IARTER A1 Rl wiawize

(iv) Ethanal from Ca-salt of fatty acid

&M G- weg s Bl

(v) 2,4,6-trinitrophenol from
phenol

ee1e oft 2,4,6 -BizNizE Reysy
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|

—_

()

(@)

"How can you prepare 1°, 2° and

3° alcohol from RMgX and
carbonyl compounds ? Give their
mechanism also. 6

RMgX i< SRR (o »f1 1°, 2°

UF 37 GeRH M ege Al

arEWE fFaREe )

Discuss anti-Markovnikoff’s rule.
‘ 4

afe-akfRaes Tifes Raw fa
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